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The Right Plot

The Problem:

A certain plot of land has sides 50m, 50m, 10m and 70m long, in that order.

There is a right angle at the corner where the two sides of length 50m meet.

What is the area of the plot?

(The diagram is deliberately not drawn accurately or to scale)
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Solution:

The total area of the plot is 1600m2
This all turns on the right angle being there. Without that piece of information, the shape of the field is indeterminate, and its area also.

By Pythagoras,
d2 = 
502 + 502  = 5000

Noticing that 


702 + 102  = 5000, also, 

means that the angle at D is 900, and the diagonal AC is hypotenuse to both (ABC and (CDA. The two triangles are both right-angled and their areas are easy to find…

[image: image2.png]



The total area of the plot is therefore
((50)(50) + ((10)(70) = 1600m2
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